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HRX 39,266 86,531 41,292 45239
RIRET1T 6 15 9 6
RIRET2T 28 57 26 31
RIRET3T 179 580 278 302
RIRET4T 414 991 490 501
B 627 1,643 803 840
REH 2,662 6,136 2,866 3,270
L&A 4218 9,367 4,399 4,968
5E 2,595 5,993 2,915 3,078
B AN 1,262 2,845 1,327 1,518
BERT 1,344 1,996 952 1,044
BER2T 780 1,430 701 729
BHERST 374 824 389 435
g 2,498 4,250 2,042 2,208
BARE 275 666 332 334
= 2,210 5,136 2,437 2,699
hERE 631 1,442 657 785
e 2,491 5,241 2,536 2,705
25 L ET 2,297 5,090 2431 2,659
B &AL BT 81 157 60 97
HEFILET1T 561 1,197 563 634
HEFILET2T 624 1,357 640 717
HEZFILAT3T 635 1,441 710 731
g 1,901 4,152 1,973 2,179
B & it B Fr ET 680 1,604 782 822
BHERERET1T 601 1,237 595 642
HEFRET2T 778 1,748 845 903
HEFMRETST 769 1,637 745 892
HERERET4T 494 968 464 504
HEHFMHETST 832 1,727 809 918
HEHFHET6T 894 1,971 952 1,019
HEFRET7T 882 1,877 920 957
HERERETST 70 219 105 114
£t 5320 11,384 5,435 5,949
HEF R FET 1,898 4,018 1,964 2,054
5IEFET1T 579 1,534 770 764
S|EFET2T 774 1,786 848 938
S|EFET3 T 736 1,426 649 777
g 2,089 4,746 2,267 2,479
ERE1T 580 1,369 655 714
EZET2T 396 1,058 529 529
EREIST 500 1,332 655 677
EZETAT 687 1,500 670 830
EIZEIST 500 1,021 518 503
B 2,663 6,280 3,027 3,253
MEH 2,836 6,320 3,001 3,319
J\THET1T 34 36 14 22
J\THET2T 26 64 32 32
J\THEI3T 53 118 52 66
B 113 218 98 120
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